E PYQs 9th

CA%PUS
a9 qi'&ﬂ (P&t 9)
&1 U9H-97 2012
PN (¥ o= 3menRa)-
| ;

) _— 10. rﬁ%a@"@mﬁw
1. A F BH-T1 g 29 (a) Tl w7 e qu;?aﬁ%

(a) T (b) et (c) 3UBTH B (d) T FTH HE

(c) A (d) 3r 1. 376 1 T e 3
Z%ﬁw'awﬁﬁel%ﬂﬁ?iﬂﬁ%? (a) 31 (b) T

(@) (b) T (c) @ (d) aft

(€}~ (d) = t2. Freafeafas w=di 4 A frm v 1 = g &2
3. WIF ¥ F faeim 2 OELIENE OELCLE

(a) FRef= (b) Frads (c) 3tftrerer (d) sfade

OEIEED (d) T 13. T & 97’ F o ™ v= B
4. T F vEEER W @ (a) TEHIE (b)-ereifr

(a) 9 (b) P9 (c) <1 (d) T3

(c) ferem (d) qf 14, 918 T 1 et F gd @ E Sa-aa W

5. faRre staer W fafre ol % wws fear o
- fagargi wwor’ % o ww v

(a) TFTYOT (b) 3fsTET
(c) 3TauTHT (d) ST¥TYUT
6. THW €R-€R wran 21’ 39 W H ‘orw’ ©
(a) THW (b) HR-ER
(c) ST d)?
7. fFrefafaa & w1 aea &1 997 R
(a) T T Y TR S

(b) T ¥ed: 98 3T g3 3favd Se
() T% TS g Avd S

(d) ITe 9% TS e AT STET
8. ‘HM W TETR W T Y 2

(a) fopelt it & 7 G

(b) et HTA

(c) TrauM HT &
(d) Fa ST

0. Rt v & = A WA B
(a)‘@f (b)ﬁﬁ
(©) W) (&) W=

www.sdcampus.com

SWI FreAw ¥ S areiwR 2, 3/

(a) 3T3IH (b) TuF
(c) T9F (d) T
15, TUFA’ e w99 =1 Serw 8
(a) AT (b) f&1
(c) &= (d) FHERT
m 330

Directions (Q.Nos. 16-17) In the following
questions, out of the four alternatives, choose
the one which can be substituted for the given
words/sentence. .
16. A disease which is spread by direct contact
(a) Contagious (b) Infectious
(c) Epidemic (d) Endemic
17. The study of ancient civilizations
(a) History
(b) Anthropology
(c) Enthnology
(d) Archaeology
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Directions (Q.Nos. 18-19) In the following
questions, out of the four alternatives, choose
the one which best expresses the meaning of the

given word.
18. Cajole
(a) Insist (b) Persuade
(c) Flatter (d) Recommend
19. Fragrance
(a) Taste (b) Aroma
(c) Sight (d) Touch

Directions (Q.Nos. 20-21) In the following
questions, choose the word opposile in meaning
to the given word.

20. Strife
(a) War
21. Repulsive
(a) Attractive
(c) Distinctive

(b) Peace (c) Anger (d) Woe

(b) Reflective

(d) Progressive
Directions (Q.Nos. 22-23) In the following
questions, sentences are given with blanks to be
filled in with an appropriate word(s). Four
alternatives are suggested for each question.
Choose the correct alternative out of the four.

22. The sparrows took no ...... the bread.
(a) notice of (b) notice about
(c) notice from (d) notice to

23. He shows great ability ...... Mathematics.
(a) at (b) for (c) about (d)in
Directions (Q.Nos. 24-25) In the following
questions, groups of four words are given. In

each group, one word is correctly spelt. Find
the correctly spelt word.

.24, .(a) Definitely (b) Definately
(c) Definitley (d) Definitly

25. (a) Cemetary (b) Semetary
(c) Cemetery '(d) Cemetry
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